HoQool & AL B M A
2017HE £ 1 8l YeralH
SH: AL
& : 400 ZHDEIS
B o420 A 2EHDEIS
3 421 A -ZEZDESS (619 &2
SN2 ol & 24 p[E-L" HDE2
=R 8,867,925 7,437,076 1,430,849
24t 8,867,925 7,437,076 1,430,849
400 28 WRSS 230,000 0 230,000
420 A - 2EHDSIS 230,000 230,000
21 N - 2EHDLIS 230,000 0 230,000
2101 Al - PEZDL S 230,000 0 230,000
OMloDIS o2 THEE T A 50,000,000 50,000 0 50,000
ORUSS, 118 222 EYIZAM 80,000 0 80,000
OXY 202 942 HITZ A 100,000 0 100,000
500 23 8,203,300 7,002,451 1,200,849
510 2 DEE3S 5, 143,000 5,161,801 18,801
511 =3 18X=3S 5,143,000 5,161,801 218,801
511-01 2 DBES 1,681,000 1,699,801 18,801
OHEE MEHSHE X4 AL 767,000,000 767,000 839,000 A72,000
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ORI HRN AL (AU S E 2= AIA) 657,000,000 657,000 536,001 120,999
ORNGH AKX BAAL (4B ot & 2H2l) 55,000,000 55,000 123,300 68,300
520 Al - SHIEX2S 3,060,300 1,840,650 1,219,650
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OXgeg 532 P FHIA 60,000,000 60,000 0 60,000
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ESXT SH4E BB A 120,000,000 120,000 0 120,000
E2X7 Sti=2 ZHISAM 60,000,000 60,000 0 60,000
OkL= =2 FUlAY 84,000,000 84,000 0 84,000
OW&E AT Bl AL 150,000,000 150,000 0 150,000
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ot & TH of ol & 7,023,341 6,309,941 713,400
= 767,000 839,000 AT72,000
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T 1,350,000 1,200,000 150,000
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01 A& HI 2,755,000 1,955,000 800,000
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Al 1,000,000 500,000 500,000
OWa A AG X7 HHIAL (L=0.5km) 300,000 0 300,000
= 150,000 0 150,000
Al 150,000 0 150,000
MHENGHE =& ALY 2,000,400 2,087,000 A 86,600
= 767,000 839,000 AT72,000
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Al 1,080,000 1,080,000 0
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Al 1,080,000 1,080,000 0
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Al 1,080,000 1,080,000 0
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OctEA LR 2 ALY (ZHR 159) 196,200 226,800 30,600
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Al 1,800 0 1,800
-se224g 90,0008 * 108 * 18 16,200 24,300 A8,100
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o4l BB Z(21Y)
250,0008 * (2198  9E+5% « 6 ) 54,750 47,250 7,500
= 47,250 47,250 0
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= 5,400 0 5,400

O4th 2z (3222 A 39)

260,000& * 38 » 7& 5,460 0 5,460
= 5,460 0 5,460
Ol x=32rate|d 2tAH(3Y) 1,939 0 1,939
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O3zt d I=Hl 300 0 300
= 300 0 300
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= 70,131 125,131 £ 55,000
Al 6,649 6,649 0
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= 0 55,000 A 55,000
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Al 25,000 25,000 0
01 Al2HI 330,000 100,000 230,000
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= 200,000 0 200,000
O=Jtotd a2t A= MHE= 30,000 0 30,000
= 30,000 0 30,000
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= 0 400 A 400
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= 55,000 50,000 5,000
01 A& HI 55,000 48,000 7,000
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= 55,000 48,000 7,000
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= 0 2,000 A 2,000
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01 A& HI 1,240,000 990,000 250,000
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TEAS 650,000 400,000 250,000
HY2IZH (AL 104,140 100,000 4,140
Jl=3l 104,140 100,000 4,140
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